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1. payment
2.savings = 0 monthint = 0.01 12%

3. O
savings := savings + (savings*monthint) +
payment;



program Savings40Years(input, output);

var
payment, savings, monthint, month: real;

begin

writeLn(’ ( );

readLn(payment);

savings .= 0; monthint := 0.001; month :=1;
while month <= 480 do
begin
savings .= savings + (savings*monthint) + payment;
month := month +1;
end,
writeLn('40 ','savings:10:2, ";
end.




480



type
realarray480 = array[1..480] of real;
var

table: realarray480;

table[1
table[1], table[2
table[2], ..., table[480] tablel3

table[480]




FirstArray

program FirstArray(input, output);
type
realarray4 = array[1..4] of real;
ver A[1] 10.0
A _realarray4; A2 Th
begin Al3] | 10.0
All] :=10; A4 10.0
A[2] := 10;
A[3] := 10;
Al4] := 10;
end.




FirstArray’

program FirstArray(input, output);
type
realarray4 = array[1..4] of real,
var i 5
A: realarray4;
| : Integer,
begin All] [ 10.0
=1 Al2] [ 10.0
Whllell <=4 do A3 10.0
begin Al4] | 10.0
All] := 10; o
=1+ 1;
end,;
end.




1:=1;

while 1 <=4 do
begin
writeLn(All]);
=1+ 1;
end:;

end.

A[1] 10
A[2] 10
A[3] 10
Al4] 10

10.0

10.0

10.0

10.0




SecondArray

program SecondArray(input, output);
type
realarray4 = array[l..4] of real,
var i 5
A: realarray4,
| . Integer;
begin All] [ 11.0
=1 A2l | 12.0
Whlle.l <=4 do A3 13.0
begin Al4] | 14.0
All] :=1+ 10; o
=1+ 1
end,




FillSavingTable

program FillSavingsTable(input, output);
type
realarray480: array[1..480] of real,
var
table: realarray480;
payment, savings, monthint: real,
month: integer;




FillSavingTable

begin
writeLn(' ( D;
readLn(payment);
savings .= 0; monthint := 0.001; month :=1;
while month <= 480 do
begin
savings .= savings + (savings*monthint) + payment;
table[month] := savings;
month := month +1;
end,
end.
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SavingsTable (1)

program SavingsTable(input, output);
type

realarray480 = array[1..480] of real;
var

table: realarray480;

payment, savings, monthint: real,

month: integer;




SavingsTable (2)

begin
writeLn(' ( );
readLn(payment);
savings = 0;
monthint := 0.01;
month :=1;
while month <= 480 do
begin
savings .= savings + (savings*monthint) + payment;
table[month] := savings;
month := month +1;
end,
writeLn('40 ";




SavingsTable (3)

writeLn(’ ),
readLn(month);
while month > 0 do
begin
writeLn(table[month]:10:2);
writeLn( );
readLn(month);
end;

writeLn( );
end.







Deposit

program Deposit(input, output);

type
realarray4 = array[l1..4] of real;

var

deposit: realarray4;
| . Integer;

begin

=1 deposit 10.0

deposit 5.0

while 1 <=4 do

deposit 7.0

begin 190

BN R

deposit

writeLn(’ );
readLn(deposit[i]);
|:=1+1;
end,;
end.




deposit[1]
sum := 0;
deposit[l] sum
deposit[2] sum
deposit[3] sum
depositj4] sum

deposit[4]

deposit
deposit
deposit
deposit

BN R

10.0

5.0

7.0

12.0

deposit[1l] sum
sum ;=

sum + deposit[1];




deposit[1]
sum = U,

sum =sum + G
sum :=sum + G
sum :=sum + C
sum :=sum + G

@ @D D D

deposit[4]

NOSIt

NOSIt|

NOSIt

NOSIt

DLW N =

deposit
deposit
deposit
deposit

BN R

sum

10.0

5.0

7.0

12.0

34.0




deposit[l] deposit[4]

sum = 0; deposit[1.
=1 deposit[2]
while i <=4 do deposit[3
begin deposit[4
sum := sum + deposit][i];
=1+ 1; sum
end;

10.0

5.0

7.0

12.0

34.0
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SumN

program SumN(input, output);
var
I, N, sum: real;
begin
readin(n);
sum = 0;
| :=1;
while 1 <= n do
begin
sum :=sum + I;
=1+ 1;
end;
writeLn(' 'sum:8:2,’ );
end.




Factorial

program Factorial(input, output);
var
I, N, product: real;
begin
readin(n);
product := 1,
| :=1;
while i <=ndo
begin
product := product * I;
=1+ 1;
end,
writeLn(n:8:2,' ', product:8:2,' D;
end.




Aseqguence

program Asequence(input, output);
var
I, N: integer;
Aseguence: string;
begin
readin(n);
Asequence = "
.= 1,
while | <= n do
begin
Asequence = Asequence & ‘A’
=1+ 1;
end;
writeLn(‘A ' Asequence,’ );
end.




deposit[l] deposit[4]

deposit[i] >
.= deposit[i]

e =1+ 1



deposit[l] deposit[4]

largestsofar := deposit[1]; deposit[1
| .= 2; deposit[2]
while i <= 4 do deposit[3]
begin deposit[4
If deposit[i] > largestsofar do
begin largestsofar
largestsofar := deposit]i]; |
end; |
| =1+ 1

end:;

10.0

5.0

7.0

12.0

12.0
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